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1. If sin7x = cos((x+10)), thenx =
(i) 9 (ii)) 11 (ii) 10 (iv) 13 (v) 8

2. InAABC, right angled atB,ifAB = 24 cmandBC = 10 cm,findcosecC

(i) = (i) > (iii) i (iv) 2 (v) =
14 4 12 10 12

3. If tan(G+ H)=v3 and tan(G — H) =v3 ,find G&H

(i) G=44°,H=14° (ii) G=46°,H=16° (iii) G=43°,H=13° (iv) G=47°,H=17° (v) G=45°,H=15°

4. In the given figure, AEGF is right angled at F. If EF = 12 cm and 4G = 45°, find EG
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(i) 6v12cm (i) 12cm (i) 12v2cm (iv) 24v3cm (v) 24cm

5. From the given figure, find tan(90 — C)
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6. Given that4tan® = 3, find cosec6
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Find angle 6 such that cos6 =0.8054

7. From Table of Natural Cosines
x° 0" 6' 12' 18' 24" 30' 36' 42' 48' 54' |1'(2'(3'|4'|5'
36/0.8090(0.8080(0.8070|0.8059/0.8049/0.8039/0.8028(0.8018(0.8007(0.7997|2|3|/5|7 |8

(i) 36° 26" (i) 36°21" (iii) 36° 11" (iv) 36° 16' (v) 36° 31'

8. Which of the following are true?

a) cos(B+ C) = cosB + cosC

b) tanB=tanx B

Cc) sin(B+ C) =sinB +sinC

d) The cotangent of an angle is the reciprocal of the tangent of the angle.
e) The cosecant of an angle is the reciprocal of the secant of the angle

f) The cosine value of an angle is the reciprocal of the sine of the angle.

(i) {b,d} (i) {ced} (i) {f.d} (iv) {d} (v) {a,d}

9. The value oftan163° in terms of an angle between0°and90°is

(i) —tan73° (ii) — cot73° (iii) tan73° (iv) cot73°

10. Find the value of (cosec6 — cote)2

1 + cos® 1 — cos© 1 —sin® 1+ sin®
(i) (ii) (iii) (iv)
1 — cosH 1 + cos© 1+ sin® 1 —sinB

In the given figure, ACDE is a right angle triangle with ZE = 90° and DE = 13 cm. T is the mid-point of CE. Find
" LTDE using tables.
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(i) 14°6" (ii) 13°6" (iii)) 19°6"' (iv) 18°6"' (v) 16°6'

12. sec42°® + cosecl4° =

(i) cosec48° + sec76° (ii) cosecd8° + cosec76° (iii) cosec42°® + secld4® (iv) secd2° + secld®
13. The value ofcos311°in terms of an angle between0°and90°is

(i) cos41° (ii) —sin4l° (iii) sin4l1l° (iv) — cos41l°

. 4
14. Given cotP=-3 ,find cosecP
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(i) 3 (if) > (ifi) : (iv) > (V)
4 4 5 5 3



15. In the given figure, AFHG is right angled at G. If FG = 25 cm and 4ZH = 60°, find GH
F
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.. 25 B ... 25 . 25 25
(i) 5 v2cm (ii) 25cm  (iii) 3 v18cm (iv) -3 cm (v) 3 v3cm

16. In the given figure, AEGF is right angled at F. If EF = 15 cm and 4G = 45°, find EH
E
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. .. 15 ... 15 ) 15 .
(i) 15v3cm (ii) > cm (i) -2 v2cm (iv) 2 v12cm (v) 15cm

17. In the given figure,cosN =
L
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18. InAFGH, right angled atG,ifFG = 8 cmandGH = 6 cm, find cotF

(i) 2 (ii)y 4 (iii) 4 (iv) 2 (v)
3 5 3

19. tan71° — cot19° =
(i) 2sin71° (ii) -1 (iii) 2sin19° (iv) 1 (v) O

20 cot4°tan28° _
" tan86°cot62°

(i) -1 (i) 1 (ii) tan4° (iv) 0 (v) tan28°
. 1 .
21. Given tanN = -12 v6 ,find cosN

(i) > V6 (i) 5 (iii) ! (iv) 2v6 (v) '2\/6
1 i i) o (v v

4
22. Given sinN = 5 ,find cosecN

(i) > (ii) : (iii) > (iv) > (v) 3
4 3 3 4 5

23. In the given figure, if FH+GH=32 cm,andFG = 8 cm, findsin F

F
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G H
(i) = (i) 1 (iii) o (iv) =
) 5 i) 5 V) 19
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24. Given cosecM = 4 ,find sinM

(i) 3 (ii) > (iii) : (iv) : (v)
5 4 3 5 3

25. From the given figure, find cosec(90 — C)
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Assignment Key

1) (iii) 2) (v) 3) (v) 4) (iii) 5) (v) 6) (iii)
7) (ii) 8) (iv) 9) (ii) 10) (ii) 11) (v) 12) (i)
13) (iii) 14) (v) 15) (v) 16) (iii) 17) (iv) 18) (v)
19) (v) 20) (ii) 21) (v) 22) (i) 23) (iii) 24) (iv)
25) (i)
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